202266 1-8ATEFER LML E+APFER
B[ 1}{2{3{4{5€6 7% ABE| R | AR 8A

1 |&|£1]€2 €3 4|85 €6 |£HESEMERS 45%6 A 1

2 | 2| K

3 (A 3K

4 |B|B1iA2{ A3 B4 B5| A6 Eﬁiﬁgf% 5-6M% A 4|k

5|k % da) ks ke ks | ke |13 et om) 5 i

6 [7K|7k1i k2! k3 Kkai K5 45x5 THER WEYDH HE|6|x

7 | AR|AR1IKR2{K3{ K4! K5! K6 A 7|8

8 |&| &1 &2 £33 &4 &5 £6 B EM]| 8

9 | 9| K

10 (H 10{ K

1 |A| A1 A2 As A4 As | As ERELIE R mamAxssant B X HioB
12 || K1 k2 k3 k4 | SHERE | =HBB 45x4 x |HE|12|& Elpg=!
13 7K | 7K1 i k2| 7k3 | 7k4 | ZESRH | =HBBK 45x4  3F FMFEE (3-4R) WEYDH ’ x |HE|13| £

14 | K| K1 K2 K3 K4 | =HEH | =HB/HK 45x4 LR g ] B | x |BE|14/B

15 |&|®1 €2 &3] 4| ZFBM, |=FHB/H 45x4 HwEX HER=#| A | x |BE|15A R B
16 |t 16| K

17 [B 17| K [FEIRBIEER
18 | A BOB 18| K

19 [ | k1 i k2! k31 k4! K5 50 X 5 HABEE#FITEADLE| B | X 19| &

20 |k |mexstiER 4 BER wEYmHE x |EM|20( £

21 | K EES7 ¥ S 1-2:3% 2ER 21| 8

22 |& 1:2:3%F ZE=R 22| A

23 | 23|k |1-2-3F HFELR
24 | B 20| K| 755
25 | A 25| K|ta%EX

26 | K 26| & |45x 4 ABEALA
27 |k HEREEER 27|+

28 |k 28| B

29 |& 20| B iﬁ%iﬁ%?ﬁia
3 |L LEHRY (RXRPL) 30( X gfﬁ@zﬁg)
31 |8 31| K|S T s 5 48)




